adicdo de fragdes (fragdo adequada) (fragdo
> 7

impropria)

Nome: Encontro: Data: Pontuagao:
5 6 1 6
Z 4 - = — 4 - =
8 7 8 5
3 3 6 7
4+ = — 4 — =
9 7 7 6
6 2 5 5
9 4 9 8
6 4 4 2
4 3 9 9
3 1 2 5
2 9 4 2
4 1 3 2
g8 2 2 6
1 6 7 2
4 - = — 4 - =
3 7 6 3
7 5 6 6
-+ = = — 4 - =
8 4 9 9
3 6 4 2
Z 4+ - = — 4 — =
4 8 5 4
3 5 7 3
— 4+ = — 4 - =
4 8 2 4
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—

m T AD

adicao de fracdes (fracdo adequada) (fragao

impropria)
Nome: Encontro: Data: Pontuacao:
5 6 83 27 1 6 53 13
o= =12 o= ==
8 7 5 56 8 5 0 40
3 3 16 6 7 &85 1
—+ - = — -+ —-=—=2—
9 7 1 7 6 2 42
6 2 7 1 5 5 & 13
—+S=_=1= Sy ==
9 4 6 6 9 8 7 72
6 4 17 5 4 2 2
—t-=— =2 — 4+ ==
4 3 6 6 9 9 3
3 1 29 11 2 5
e S+I=3
2 9 1 18 4 2
4 1 3 2 11 5
-+ =-=1 —t+-=—=1-
8 2 2 6 6 6
1 6 25 4 7 2 11 5
—+=-=—=1— —F+—=—=1-
3 7 1 21 6 3 6 6
7 5 17 1 6 6 4 1
= =2- - =_=1-
8 4 8 8 9 9 3 3
3 6 3 1 4 2 13 3
Zr-=Z=1= —+S= ==
4 8 2 2 5 4 10 10
3 5 11 3 7 3 17 1
Sy =—=1Z Y
4 8 8 8 2 4 4 4
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